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3P 30AX 1 STGO3K1 33,600 | STBO3K1 23,500 o
3P 50AX 1 STGO5K1 40,200 | STBO5K1 25,200 [ 350 | 300 | 120 O |
3P 60AX 1 STGO6K1 40,200 | STBO6K1 28,100 o]
3P  75Ax 1 STGO7K1 49,300 | STBO7K1 32,600 O
3P 100Ax 1 STG10K1 51,800 | STB10K1 32,600 | 450 | 300| 140 O |
3P 125Ax 1 STG12K1 64,800 | STB12K1 41,800 o]
3P 225Ax 1 STG22K1 99,200 | STB22K1 69,200 | 500 | 400] 160 | O
3P 400Ax 1 STG40K1 144,100 | STB40K1 128,000 | 500 | 500| 200 | @
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3P 30Ax 2 STGO3K2 57,900 | STB0O3K2 35,400 O
3P  50Ax 2 STGO05K2 70,900 | STBO5K2 39,200 | 400 | 400 | 120 o]
3P 60AX 2 STGO6K2 70,900 | STBO6K2 48,000 O]
3P  75Ax 2 STGO7K2 85,000 | STBO7K2 51,300 @)
3P 100Ax 2 STG10K2 92,900 | STB10K2 51,300 | 500 | 500 | 140 | O |
3P 125Ax 2 STG12K2 118,300 | STB12K2 69,600 o]
3P 225Ax 2 STG22K2 140,500 | STB22K2 117,700 | 500 | 50| 160 | O
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3P 30Ax 3 STGO3K3 79,900 | STBO3K3 46,700 @ |
3P 50Ax2 0 3P 30Ax 1 | STG053K3 92,900 | STB053K3 51,300 °
3P 50Ax 3 STGO5K3 99,500 | STBO5K3 52,100 %0 |60 120 | @ |
3 60Ax2 0 3P 30Ax 1|STGO63K3 92,900 | STB063K3 57,900 ‘o
3P 60AX 3 STGO06K3 99,500 | STBO6K3 67,400 ‘o]
3P 75Ax2 O 3P 30Ax1|STGO073K3 112,800 | STB073K3 64,600 ®
3P 75Ax 3 STGO7K3 127,600 | STBO7K3 70900 | | |®]
3P 100Ax 2 0 3P 50Ax 1 | STG105K3 122,500 | STB105K3 65,300 °
3P 100Ax 3 STG10K3 132,500 | STB10K3 70,900 Y
3P 225Ax 3 STG22K3 200,400 | STB22K3 169,100 (500 | 700 | 160 | @
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